20km

2011 4 10 10 OO0

*1 GM( -

*2

*3Nal( - )
*4

1 60k 16 27 102
1 60k 8 35 082
2 55k 9 03 387
3 45k 9 54 307
4 50k 15 10 182
5 45k 10 32 117
6 35k 10 49 122
7 35k 10 56 15
10 40k 14 54 177
11 40k 14 41 162
12 40k 12 15 122
13 40k 12 04 102
14 35k 11 54 0.3




*1 GM(
*2
*3 Nal(
*4

15 35k 11 45 1172
20 45k 12 39 1472
22 35k 12 55 1572
23 35k 12 48 1872
31 30k 10 23 10.7 2
32 30k 10 43 26.1 72
33 30k 10 51 15.3 2
34 30k 9 47 512
36 40k 11 38 317
37 50km 9 46 4,02
38 35k 11 26 072
39 ( 45km 10 16 1472
41 20k 13 40 087
41 20k 9 55 0.8 "2
42 30k 13 00 0.9
42 30k 9 43 09"
43 20k 15 00 0.5 "2
43 20k 11 00 04




*1 GM(
*2
*3 Nal(
*4

44 30k 13 00 08"
44 30k 10 00 08"
45 20k 13 07 117
45 20k 10 07 1272
46 30k 13 55 477
46 30k 10 30 48™
51 40k 13 56 02"
51 40k 10 48 03"
52 40k 14 30 03"
52 40k 11 16 03"
61 40k 14 20 39"
61 40k 12 16 11"
62 40k 14 31 60"
62 40k 12 06 64"
63 45k 14 57 21"
63 45k 11 03 17"
71 25k 15 30 187 (NBC )
71 25k 12 43 097




*1 GM(
*2
*3 Nal(
*4

71 25k 9 8 03 182 (NBC
72 30k 9 16 05 062 (NBC
72 30k 9 12 30 077
72 30k 9 8 36 102 (NBC
73 35k 9 16 23 09 (NBC
73 35k 9 12 11 1272
73 35k 9 9 o1 1272 (NBC
74 35k 9 12 53 03" (NBC
74 35k 9 11 04 05"
75 45K 9 17 20 022 (NBC
75 45k 9 10 39 077
75 45k 9 7 13 00" (NBC
76 20k 9 11 4 00" (NBC
76 20k 9 10 50 05"
77 25k 9 12 01 1772 (NBC
78 45K 9 18 27 137 (NBC
78 45k 9 8 00 027 (NBC
79 30k 9 10 16 12.32




*1 GM(
*2
*3 Nal(
*4

79 30k 8 49 104 ™2 (NBC
80 25k 14 35 052 (NBC
80 25k 11 24 1.272

80 25k 11 05 05" (NBC
81 30k 8 41 24272 (NBC
83 20k 10 02 475"

83 20k 9 04 39.6 "2 (NBC
84 40km 10 03 03"

85 60km 14 00 0.1"

85 60km 6 00 0.2 "

86 55km 14 00 0.9 "

86 55km 6 00 1.272

87 30km 14 00 0.8

87 30km 6 00 1.3

88 55km 12 00 117 -
89 60km 12 00 35" -
101 55km 9 25 1.7

102 50km 13 33 217




*1 GM(
*2
*3 Nal(
*4

103 20km 11 45 127
104 25km 730 237
105 20km 11 20 0.4 "2
106 30km 10 30 0.8
107 25km 12 05 347
108 30km 12 43 4272
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